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DIRECTIONS: 
In each sentence below four words that the printed in 
bold have been lettered (1), (2), (3), (4) and (5). One 
of them may be wrongly spelt or inappropriate in the 
context of the sentence. Find out the word, which is 
wrongly  spelt  or  inappropriate  if  there  is  any.  The 
letter of that word is the answer. 

If all the words, which are printed in bold , are 
correctly spelt and appropriate in the context of the 
sentence, mark (5) as the answer i.e. All correct. 
 
1) The girl spends 1)/ every knight 2)/ studying, as she 
wants to graduate 3)/ from a well known college 4)/ 
with good marks. All correct 5)/ 
a) The girl spends 
b) every knight 
c) studying, as she wants to graduate 
d) from a well known college 
e) with good marks. All correct 
 
2) Preventive majors 1)/ have controlled 2)/ the 
enormous 3)/ growth rate of terrorist 4)/ activities. All 
correct 5)/ 
a) Preventive majors 
b) have controlled 
c) the enormous 
d) growth rate of terrorist 
e) activities. All correct 
 
3) The popular 1)/ understanding of the 2)/ incidence 
3)/ was that he had resigned 4)/ All correct 5)/ 
a) The popular 
b) understanding of the 
c) incidence 
d) was that he had resigned 
e) All correct 
 
4) There is a possibly 1)/ that the merger will have a 
negative 2)/ impact 3)/ on consumers 4)/ All correct 5)/ 
a) There is a possibly 
b) that the merger will have a negative 
c) impact 

d) on consumers 
e) All correct 
 
5) The income 1)/ of many people in rural 2)/ India is 
not  adequate  3)/  to  satisfy  4)/  their  basic  needs.  All 
correct 5)/ 
a) The income 
b) of many people in rural 
c) India is not adequate 
d) to satisfy 
e) their basic needs. All correct 
 
6) It remains 1)/ to be seen whether 2)/ these reforms 
3)/ will be acceptable 4)/ by the Board. All correct 5)/ 
a) It remains 
b) to be seen whether 
c) these reforms 
d) will be acceptable 
e) by the Board. All correct 
 
7)  They  vouched  1)/ to  lunch  2)/  the  programme 3)/ 
without much fanfare 4)/ All correct 5)/ 
a) They vouched 
b) to lunch 
c) the programme 
d) without much fanfare 
e) All correct 
 
8) The revized 1)/ rates 2)/ of interest will be effective 
3)/ immediately 4)/ All correct 5)/ 
a) The revized 
b) rates 
c) of interest will be effective 
d) immediately 
e) All correct 
 
9) Have you noticed 1)/ that the country is on the brink 
2)/ of a serious 3)/ dissaster? 4)/ All correct 5)/ 
a) Have you noticed 
b) that the country is on the brink 
c) of a serious 
d) dissaster? 
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e) All correct 
 
10) Your marketing strategy 1)/ should be devised 2)/ 
dependent 3)/ on the kind of business you own. 4)/ All 
correct 5)/ 
a) Your marketing strategy 
b) should be devised 
c) dependent 
d) on the kind of business you own. 
e) All correct 
 
11) Rita was tending 1)/ to her flower 2)/ beds with joy 
3)/ and pride. 4)/ All correct 5)/ 
a) Rita was tending b) to her flower 
c) beds with joy  d) and pride. 
e) All correct 
 
12) As per your request 1)/ this is a detail 2)/ list of our 
basic 3)/ requirements 4)/ All correct 5)/ 
a) As per your request 
b) this is a detail 
c) list of our basic 
d) requirements 
e) All correct 
 
13) Under existing 1)/ regulations we are not permitted 
2)/ to owe 3)/ more than a forty per cent share 4)/ of 
the family business. All correct 5)/ 
a) Under existing 
b) regulations we are not permitted 
c) to owe 
d) more than a forty per cent share 
e) of the family business. All correct 
 
14)  Imported  items  are  costlier  1)/  than  there  2)/ 
domestic 3)/ counterparts 4)/ All correct 5)/ 
a) Imported items are costlier 
b) than there 
c) domestic 
d) counterparts 
e) All correct 
 

15)  As  a  consequence  1)/  of  2)/  that  earthquack  3)/ 
many families have been, ruined. 4)/ All correct 5)/ 
a) As a consequence 
b) of 
c) that earthquack 
d) many families have been, ruined. 
e) All correct 
 
16) While convincing 1)/ others about false claims, he 
maintains 2)/ a strait 3)/ face 4)/ All correct 5)/ 
a) While convincing 
b) others about false claims, he maintains 
c) a strait 
d) face 
e) All correct 
 
17)  She  vested  1)/  her  time  in  chatting  2)/  over  the 
phone and ultimately 3)/ ended up not finishing 4)/ her 
work. All correct 5)/ 
a) She vested 
b) her time in chatting 
c) over the phone and ultimately 
d) ended up not finishing 
e) her work. All correct 
 
18) She shade 1)/ tears as if to display her grief, 2)/ but 
they were not a genuine 3)/ expression of sorrow. 4)/ 
All correct 5)/ 
a) She shade 
b) tears as if to display her grief, 
c) but they were not a genuine 
d) expression of sorrow. 
e) All correct 
 
19) The rol l 1)/ of the institute is to provide technical 
support to other institutions and to constantly monitor 
2)/ their facilities 3)/ and performance. 4)/ All correct 
5)/ 
a) The rol l 
b)  of  the  institute  is  to  provide  technical  support  to 
other institutions and to constantly monitor 
c) their facilities 
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d) and performance. 
e) All correct 
 
20)  The  issues  1)/  of  hunger  and  poorty  2)/  are  left 
behind 3)/ as we have progressed 4)/ in technology. All 
correct 5)/ 
a) The issues 
b) of hunger and poorty 
c) are left behind 
d) as we have progressed 
e) in technology. All correct 
 
21) In just one year Beena has gained 1)/ around eight 
kilograms 2)/ and doctors fear she might be prune 3)/ 
to heart-related ailments 4)/ All correct 5)/ 
a) In just one year Beena has gained 
b) around eight kilograms 
c) and doctors fear she might be prune 
d) to heart-related ailments 
e) All correct 
 
22) As the ship was sinking 1)/ fast, the captain 2)/ gave 
orders to abandon 3)/ it immediately. 4)/ All correct 5)/ 
a) As the ship was sinking 
b) fast, the captain 
c) gave orders to abandon 
d) it immediately. 
e) All correct 
 
23) After the meeting I discussed 1)/ the issue 2)/ with 
my colleagues 3)/ who were very helpfull 4)/ All correct 
5)/ 
a) After the meeting I discussed 
b) the issue 
c) with my colleagues 
d) who were very helpfull 
e) All correct 
 
24)  More  than  halve  1)/  of  the  budget  2)/  has  been 
spent 3)/ on modernising 4)/ the factory. All correct. 
5)/ 
a) More than halve 

b) of the budget 
c) has been spent 
d) on modernising 
e) the factory. All correct. 
 
25) The squwad 1)/ that was entrusted with the task of 
detection 2)/ of explosives and their neutral ization 3)/ 
has completed the assignment 4)/ All correct 5)/ 
a) The squwad 
b) that was entrusted with the task of detection 
c) of explosives and their neutral ization 
d) has completed the assignment 
e) All correct 
 
26) The panal 1)/ is of the view 2)/ that the restrictions 
3)/ should be implemented 4)/ immediately. All correct 
5)/ 
a) The panal 
b) is of the view 
c) that the restrictions 
d) should be implemented 
e) immediately. All correct 
 
27) The combination of a base of imported technology 
and capabilities 1)/ built up indigenous 2)/ led in itial ly 
3)/ to product and process involvement 4)/ All correct 
5)/ 
a) The combination of a base of imported technology 
and capabilities 
b) built up indigenous 
c) led in itial ly 
d) to product and process involvement 
e) All correct 
 
28)  Experts  predict  1)/  there  will  be  shortaze  2)/  of 
investment 3)/ in the infrastructure  4)/ sector. All 
correct 5)/ 
a) Experts predict 
b) there will be shortaze 
c) of investment 
d) in the infrastructure 
e) sector. All correct 
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29) Sania competed 1)/ with the excellent 2)/ players 
from  each  state  in  our  country  3)/  and  won  the  first 
prige 4)/ All correct 5)/ 
a) Sania competed 
b) with the excellent 
c) players from each state in our country 
d) and won the first prige 
e) All correct 
 
30) Besides 1)/ the duties of compassion 2)/ 
harmlessness and 3)/ forgiveness there are still duties 
that we owe to others 4)/ All correct 5)/ 
a) Besides 
b) the duties of compassion 
c) harmlessness and 
d)  forgiveness  there  are  still  duties  that  we  owe  to 
others 
e) All correct 
 
31) He failed 1)/ to secure 2)/ that crucial 3)/ contract 
so he loss 4)/ his job. All correct 5)/ 
a) He failed 
b) to secure 
c) that crucial 
d) contract so he loss 
e) his job. All correct 
 
32) If you emp loy 1)/ more systematic 2)/ methods 3)/ 
you can lesser your costs. 4)/ All correct 5)/ 
a) If you emp loy 
b) more systematic 
c) methods 
d) you can lesser your costs. 
e) All correct 
 
33) To better understand the challenges 1)/ of starting 
a  new  venture  2)/  he  read  up  3)/  extensively  4)/  All 
correct 5)/ 
a) To better understand the challenges 
b) of starting a new venture 
c) he read up 

d) extensively 
e) All correct 
 
34) After several 1)/ rounds of negotiations 2)/ the flat 
owner axceeded 3)/ to our request 4)/ All correct 5)/ 
a) After several 
b) rounds of negotiations 
c) the flat owner axceeded 
d) to our request 
e) All correct 
 
35) It is difficult 1)/ to see the picture 2)/ when you are 
inside 3)/ the frame 4)/ All correct 5)/ 
a) It is difficult 
b) to see the picture 
c) when you are inside 
d) the frame 
e) All correct 
 
36) Back home, the ever affable 1)/ Bollywood 
singershares the excitement 2)/ of having 3)/ 
performed 4)/ at the Royal Hall in London. All correct 
5)/ 
a) Back home, the ever affable 
b) Bollywood singershares the excitement 
c) of having 
d) performed 
e) at the Royal Hall in London. All correct 
 
37) Our mind is like a garden 1)/ which can either be 
intel  l  igently  2)/  cultivated  3)/  or  be  allowed  to  run 
wilde 4)/ All correct 5)/ 
a) Our mind is like a garden 
b) which can either be intel l igently 
c) cultivated 
d) or be allowed to run wilde 
e) All correct 
 
38)  Discussion  1)/  is  an  exchange  of  knowledge  2)/ 
whereas arguement 3)/ is a depiction 4)/ of ignorance. 
All correct 5)/ 
a) Discussion 
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b) is an exchange of knowledge 
c) whereas arguement 
d) is a depiction 
e) of ignorance. All correct 
 
39) The lease on these premises 1)/ has expired 2)/ and 
we have incured 3)/ significant debt. 4)/ All correct 5)/ 
a) The lease on these premises 
b) has expired 
c) and we have incured 
d) significant debt. 
e) All correct 
 
40) Since 1)/ the interest rate on bank deposits is low 
2)/ at present, people prefer 3)/ to deposit their 
savings 4)/ in post office schemes. All correct 5)/ 
a) Since 
b) the interest rate on bank deposits is low 
c) at present, people prefer 
d) to deposit their savings 
e) in post office schemes. All correct 
 
41) In developing 1)/ countries there is increesing 2)/ 
concern for fostering 3)/ human potential. 4)/ All 
correct 5)/ 
a) In developing 
b) countries there is increesing 
c) concern for fostering 
d) human potential. 
e) All correct 
 
42)  A  good  1)/  leader  is  of  prime  2)/  importance  for 
develop 3)/ of any organisation 4)/ All correct 5)/ 
a) A good 
b) leader is of prime 
c) importance for develop 
d) of any organisation 
e) All correct 
 
43) In this time of recession you should consider 1)/ the 
possibility 2)/ of reducing 3)/ your expenditure 4)/ All 
correct 5)/ 

a) In this time of recession you should consider 
b) the possibility 
c) of reducing 
d) your expenditure 
e) All correct 
 
44) The city’s fashion-conscious ladies 1)/ came 
together at a city hotel to check out an exibition 2)/ by 
various 3)/ designers 4)/ and labels. All correct 5)/ 
a) The city’s fashion-conscious ladies 
b) came  together at a city hotel to check out an 
exibition 
c) by various 
d) designers 
e) and labels. All correct 
 
45) The IT Company has succeeded 1)/ in achieving high 
growth rate despite 2)/ facing 3)/ several 4)/ problems. 
All correct 5)/ 
a) The IT Company has succeeded 
b) in achieving high growth rate despite 
c) facing 
d) several 
e) problems. All correct 
 
46) As it was the tenth 1)/ day of the festival 2)/ the 
constables 3)/ on duty were tried 4)/ of patrolling. All 
correct 5)/ 
a) As it was the tenth 
b) day of the festival 
c) the constables 
d) on duty were tried 
e) of patrolling. All correct 
 
47) The cinema transforms 1)/ abstract 2)/ themes 3)/ 
into concret stories. 4)/ All correct 5)/ 
a) The cinema transforms 
b) abstract 
c) themes 
d) into concret stories. 
e) All correct 
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48) The deal we negotiated 1)/ has not been approved 
2)/ by RBI and needs 3)/ to be revized 4)/ All correct 5)/ 
a) The deal we negotiated 
b) has not been approved 
c) by RBI and needs 
d) to be revized 
e) All correct 
 
49)  It is our intention 1)/ to keep a check 2)/ on the 
expences 3)/ ncurred 4)/ by them. All correct 5)/ 
a) It is our intention 
b) to keep a check 
c) on the expences 
d) ncurred 
e) by them. All correct 
 
50) You have absolutely 1)/ no authority 2)/ to 
interphere 3)/ in my affairs. 4)/ All correct 5)/ 
a) You have absolutely 
b) no authority 
c) to interphere 
d) in my affairs. 
e) All correct 
 
51) World Earth Day is celeberated 1)/ as a means 2)/ 
to make people aware 3)/ about the environment 4)/ 
All correct 5)/ 
a) World Earth Day is celeberated 
b) as a means 
c) to make people aware 
d) about the environment 
e) All correct 
 
52)  His  main  reasoning  1)/  for  applying  2)/  for  this 
promotion is the possibility 3)/ of an overseas posting 
4)/ All correct 5)/ 
a) His main reasoning 
b) for applying 
c) for this promotion is the possibility 
d) of an overseas posting 
e) All correct 
 

53) The government’s strategy to encourage 1)/ 
entreprenurship 2)/ gathers momentum 3)/ with 
unenvisaged 4)/ response. All correct 5)/ 
a) The government’s strategy to encourage 
b) entreprenurship 
c) gathers momentum 
d) with unenvisaged 
e) response. All correct 
 
54) It is indeed recommendable 1)/ that the apex court 
has deemed 2)/ it necessary to remind the government 
of its duties in promoting 3)/ education and investing 
)in it. 4)/ All correct 5)/ 
a) It is indeed recommendable 
b) that the apex court has deemed 
c) it necessary to remind the government of its duties 
in promoting 
d) education and investing )in it. 
e) All correct 
 
55) Your statement 1)/ that you received 2)/ no prier 
3)/ intimation 4)/ is not plausible. All correct 5)/ 
a) Your statement 
b) that you received 
c) no prier 
d) intimation 
e) is not plausible. All correct 
 
56) Almost 1)/ two hours have elapsed 2)/ since he fell 
3)/ asleep. 4)/ All correct 5)/ 
a) Almost 
b) two hours have elapsed 
c) since he fell 
d) asleep. 
e) All correct 
 
57) Do not precede 1)/ with the transfer 2)/ of funds 
until you receive further 3)/ instructions 4)/ All correct 
5)/ 
a) Do not precede 
b) with the transfer 
c) of funds until you receive further 
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d) instructions 
e) All correct 
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